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#include <stdio.h>

main (int argc, const char * argvl])

int a, b, c;

a=1;

b=2;

/% FIRA AL 2 I = 2 % /

c=a+2;

printf("c =%d\n", c); /* AR B ¢ (W{H * /
/ * Rk AP AL & o a2 /

c =b +2;

printf("c =%d\n", c); * far AR ¢ FE * /
/* FRIRA A AL a AL+ bx /

c =a +b;

printf("c =%d\n", c); / % i AR B ¢ BIME % /
return 0;
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3 int
A {
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6
7
8
9
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11
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c=3
c =4
c =3
= S
%0517
%1047
91147
%513 47
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TR a 5EE 2 M, AR5 R B (IR 45 78 5 e
fd A R printf O % A8 & ¢ BU1E.
FBAK AT b 5H a2 A, AR5 KR 8]y (I 25 A2 & e
P PREL printf O % A8 & ¢ BI{E.
FRAK A5 a H5ASE b AN, AR5 R 1] A (E TR 45 28 1 o,
fd A R printf O % A8 & ¢ BU1E.
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char c ="A";

int 1 =10;

int Count =1 +2;
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HARZTA G FEXMT AN £ o T HATAEA LA,

T B AR R A X R AR oM A L, B AR B i dh Ak . T LS AR R I, B
HEAT 7 S A WA AR AN R s

int i; / /7 B AR
i=12; / /7 WA
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1 #include <stdio.h>

2

3 int main(int argc, const char * argv[])
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353 AARA2HKvmtmb e

L. FARBFAF L L%

CHFHPME T AMBREMFMERMEGIE. X TRERZRER, REARME LR
BT AL e G RO AT, o < L/ Do BRSS9 o T+ — g . i e R kK
TR I B+ 5 W 2 Seis Ay e s s A s R s .

R=x+y * z;

1A o« e+ e s BT A& AT v 2 BB 8 BN x.
2. AR EHE &A1
MR A B B S FON AR R &5 A 7 e B A A IR FR

R=a -b +c;

bR 2R R A R OIS S s AL S g AR IR B DL b SE S S A L ST
a—b BEAE IRJG FERAT N ¢ AOERAE X RAE AR FR O ™ A ZE 10 A S5 A

3.6 B BRIEER

C 5 4R T AN FH 78 50 38 5 380 0 19 RR K2 AT A B F B CA D I8 /A + 4+
HHWMEZBREMS— ", AMSEFE a1, A W06 B R ESGE R 1.

1E CIEFRF R QW A HE B+ -+ (— =) b3 QRO A2 B A0, HH %48
KT PR,

int n =0;
n++;
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FEFR IR AR is B — 84, LA BNl I 5 ik el Re A T AN [R] . 2R84 A
AR LR A A S 0 2 ik 2E B T o8 B 3 B b B G SR 58 SRR A A e T 0
AR AR AR ESINERRBRZ G

1. AiE A Y. B RE
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B34 HiEAW.ABEZHE.

1 #include <stdio.h>
2
3 int main(int argc, const char * argv[])
4 |
5 int 1 =0;
6
7 printf("i =%d\n", ++1);
8 printf("i =%d\n", 1i);
9 printf("i =%d\n", - -1i);
10 printf("i =%d\n", i);
11
12 return 0;
13 }
W
i=1
i=1
i=0
i=0
= B

5547 8% 1 BERITERIE N 0.

55 7AT: b 0E AR AT CAE R PR R T s AT AR
FHIZ SR 1 B9 ERG I 1, FFH0 E BRI 0L 1 5280 1, 3k HE b il 1 i, i i
g8 1.

58 AT BRI A E R 1L 3ROR 1 R E AR AR

55947 Mt — —1 WA, AEOS EAF — —CFE 1R T, PR R R T s AT A
FREH 1 FEECD 1B RE L RIEN 1,081 /A 0. X AR 1 ROME A SR
0,

551047 i 1 AR L AYE D 0.3 0R 1 E A AR AR

2. B EHME . A MIEH
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U2 e O B MR, SR 5 PR FL B0/ 1. 3T okl it — s ] i R 5 B A B A s
FEEOAE T BAR N Bl 3.5 PR
B13.5 JREAM.ABEEE.

1 #include <stdio.h>
2
3 int main(int argc, const char * argv[])
a
5 int i =0;
6
7 printf ("i =%d\n", i++);
8 printf("i =%d\n", i);
9 printf("i =%d\n", i--);
10 printf("i =%d\n", i);
11
12 return 0;
13 1}
T
i=0
i=1
i=1
i=0
= B

%547 ¥ i BERTERIE N 0.

74T i A, ARG B R R T, PR R S s AT AE
FHOE S O & 1 B E AT (AR PR 1 A (EN 1.1 MR LR E R O, S P AT A, PR b o
MIE N 0, MMA S5 1 IMEAE N 1,

55 8 AT FRUE I LAY BN 1L RN 1 BE AR AR HLE A R R E 2 S .

55947 Ml i— — WA, ARG AT — — e R T PR R S B s R4 A
FHOZ SO & 1 AT A L P 1 A ME I 1.1 POMECH 1, SE BT RAE R IR i 1
R 1R AN O,

5510 47 FRE 1 RE . BN 0, KR 1 ME A AR L LR A e EZ )G .
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FUAR M R R T 3R ah AP A BRI 34T . B 3R 7 438 E 19 5% 28 JM0AT. o ML 0 35 7 413 7E 19
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2>1 /72 KT 1, PR Z AL, Rk 45 58 K
2>=1 /72 KT 1, PR Z AL, Rk 455N K
2<1 /72 KT 1, RIS R A AL, Rk A 4558 R
2 <=1 /72 KT 1, R R R A WAL, Rk A 4558 R
2==1 /72 KT 1, B OE R A AL, Rk 45588 1B
2 1=1 /72 REET 1, R R IRAL, R 45 R |7
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if (Num <5) {

/ /3N AR D B, W ERAT I AR
}
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n EAR AR AR i a o 2, PR A R IRE S a. BT a MEN 1MW ax =2 )5,
a EAE R 2,

4. BRIEWKAE I8 TEAF

I3 125 TR {3 A B B 1k i B A 5 AL i B A AL 6 38 B30 A 3 3 A0 iy 1 3 ) an R
i

a /=2;

R AR A S AR i a BREL 2, PRI S R4S a. R a MOMEN 4,00 a/=2 )5,
a MEAE R 2,

5. INBEAG s AT

R AE 2 5 A7 B K MO 3 A7 5 B 12 38 A A - 03 B34 3 38 200 I 19 318 )
Fr s

a/=2;

W EAREAEE R SR a BRUL 2, B REOWIE S o 0 a WEH 5.0 a/=2 )5,
a BIMEAE N 1,

B2 Ok 3 HAR B 7R B 560 3R 5 Fp A A WE S A, BRI 3.6 TR .

Bl 3.6 HEMWMIEEHEL.

1 #include <stdio.h>
2
3 int main(int argc, const char * argv[])
4 |
5 int a =1, b=3, c=1, d=4, n=5;
6 printf("$d\n",a +=2);
7 printf("$d\n",b -=2);
8 printf("$d\n",c * =2);
9 printf ("$d\n",d /=2);
10 printf("$d\n",n $=2);
11
12 return 0;
13 }
W
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2
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1
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a *=1+2;

ZEGFER T a=ax (1+2);  BHF x =EMGMELMAERE, HE 21 RS,
mMAER Ta=a* 1+ 2;, "ReFEFTUNLZFZI—ALR, = T4IE,

CItH RMEGMEZ BN T HET . RHE 6 WA B RA LT EILE
25 5 B, T DR i A IR RO

39 EEEEFERIEK
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3.9.2 ZHE KA
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Result =A&&B; /73 n B AR R AT, £5 5 1
Result =A||B; //A.B Hi—A~ A EAT, 45 5ok A=
Result =!A4; VA UE N =N S

— BB BT 2 S AT FH R M 3 A 1 2 A 5, A 0 R 0 U R B A H L, L for
IERGIE

e C BT R T, 5 8 2 AR 2 B VR — A8 B Y B0 5 o A Y a2
BB B ERAE (1 80 BRI B,

Result =!!Value;

393 S HEHHGrtm 5L M
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B 3.7 EiBEEL,

1 #include <stdio.h>
2
3 int main(int argc, const char * argv[])
4 |
5 int Valuel, Value2;
6
7 Valuel =5;
8 Value2 =0;
9
10 printf("Valuel s& Value2 B4R ZE%d\n", Valuel s& Value?2);
11 printf ("Valuel || Value?2 E’Jiﬁ%%%d\n", Valuel || Value?2);
12
13 printf("!!Valuel &R ZE2d\n", !!Valuel);
14 return 0O;
15 }
W

Valuel && Value2 MIZERE 0
Valuel || Value2 FIZ5HE 1
Ilvaluel WIZ5HRE 1

= B

8747 WMEAE I Valuel B{E IR 0 1H.

5817 WA & Value2 B{EH N 0.

Valuel M RAE 0(FIR A7) . Value2 MIH A 0 GRIR A L) I AE 2 5 F ik
i FE S AN ST (5 2R 0) AR B R TR U b By 17 (S5 2R 1), Valuel Zad 25—
AR B G  HAEAE R o, FR AR fS  H EAE N 1,
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PRI BN HE— S ENgE T, v LSS ay 3 8 TE B M BCRM AR .
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Nk 3.6 Fron /i =AM 2 s B E N B8 kG — PR AR B R,
37 12 i 3 A T8 T X R A R R AT O B B I S R, DA RO R E L AT AR

3.10.2 4ziF # & % X,

TE Linux WAZ KSR T v, 67 32 50 AT AT L 3E ik o7 B4 i 8 5 A7 Th e, 2R VE S A
iy i A . BB AT IS FR .

Result =Valuel & ValueZ2;

bR KRB TEA B Valuel . Value2 BRI AR 5, Valuel BIEH N 5, Value2 HI{H N
6,44 Valuel,Value2 4y —iE il 805514 101,110, 7 3% 5832 5 0% B0 1 B — A X i
BLIAT BLERAE L PRI AAT AU 25 2R 100, e 45k 1kl 4 4

(2% B s AT R A BAR 4] 3.8 B .

B 3.8 (IEEIBEAT,

1 #include <stdio.h>
2
3 int main(int argc, const char * argv[])
4 |
5 int Valuel, Value2, Result;
6
7 Valuel =5;
8 Value2 =6;
9
10 Result =Valuel & Value2;
11
12 printf ("Result {HH2d\n", Result);
13 return 0;
14 )
oy

Result MI{E N 4

3.11 ZEFHMER
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* = e J K AL ARt x =R
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3.13 3] 4]

1. Bz

(1) FikX 17%3 B F 2 .

(2) # int a=10; AT a+= a—=a* a;)J5.a WHEZ o
(3) 7E C I F o BOR B HOHS 2 8 8 1 18 AT 72 .

(1) # int sum=7,num="7; MHFT1EH] sum=num-+ + ;sum—+ +; + +num;J5 sum
FIAE K .

(5) # int a=6; M FEX a¥2+ a+1) %2 HEN .
2. RS
(1) 7R a,i CIERE X, H i IR 0 DL R 4 5 1 A 2 )
A a==1 B. +-+i; C.at++=5; D. a=int(1);
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(2) 18 CIBEF P 18 B0 G2 201 2 38 AU ) 32 4T 2 ( )
A %= B. / C. <= D. =
(3) #F int a=7;float x=2.5,y=4.7; M KK x+a%3 * (int) (x+y) % 2/4 H{HZE
( )

A. 2.500000 B. 2.750000 C. 3.500000 D. 0.000000
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